PC 6.5 – 6.7 REVIEW  

       Name____________________________________________

*** All answers must be exact and simplified unless otherwise stated.

      All angles: 
[image: image64.png]-2

5 4

-6



  or  
[image: image2.wmf]qp

£<

02


[image: image1.wmf]q

£<

oo

0360


(1) For z = -3 + 2i

  (a) Plot z on the grid using a dot.

  (b) Give the absolute value of z                                                                                

Write each complex number in polar form:
(2)  
[image: image3.wmf]2 - 23

i

                                                                      (3) 
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Write each complex number in rectangular form:
(4) 
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(5) If  
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 (a) Find  
[image: image8.wmf]12

zz

  in polar form           (b) Find  
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  in rectangular form          

(6) Use DeMoivre’s Theorem to find  
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in polar form AND rectangular form                                                              

(a) polar:



(b)rectangular:
(7) Give the complex cube roots of 
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 in polar form AND rectangular form                                                                                       

(a) polar:



(b)rectangular:

Make sure all your vector answers have arrows!!!

(8) Let 
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u

 be a vector with initial point  P1 = (-3, 7) and terminal point  P2 = (9, 8). Write 
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 in terms of 
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 and 
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(9) Write the vector 
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 in terms of 
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 where 
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For 
[image: image21.wmf]=-

uur

rur

+

6

mij

    and    
[image: image22.wmf]=

rur

ur

2-5

vij

    and    
[image: image23.wmf]=

uuur

uur

4  

wj


(10) Sketch 
[image: image24.wmf]uur

m

 as a position vector on the grid.  
        Sketch 
[image: image25.wmf]uur

w

 as a position vector on the grid.        

 (11) Find the magnitude of 
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                      (12) Find  
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[image: image28.wmf]uruur

 + 

vw

                                                                                           
(14) Find the unit vector in the same direction as 
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(15)Find 
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(16) Find the angle between 
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  and  
[image: image32.wmf]ur

v

 (round this answer to the nearest tenth of a degree)                                                              
(17) 
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 = 5
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    and      
[image: image36.wmf]ur

z

 = -3
[image: image37.wmf]r

i

 + k
[image: image38.wmf]r

j


(a) Find the value of k if 
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 and 
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 are parallel vectors.   (b) Find the value of k if 
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 and 
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 are orthogonal vectors

Use the rectangle to answer each with one vector or a number:










(18)  
[image: image43.wmf]uuur
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(19)  
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 - 
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(20)       
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(21) 
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  and  
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  are acting on an object.           (hint, see pg. 692 #79,80 HW)

        (a) What additional force, 
[image: image54.wmf]uur
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, is required for the given forces to be in equilibrium?     
       (b) Find 
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       (c) Find 
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(22) A wagon is pulled along level ground by exerting a force of 32 pounds on a handle

       that makes an angle of 
[image: image59.wmf]o
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 with the horizontal. How much work is done by 

       pulling the sled 300 feet? Round to the nearest ft-lb.                                                                                                                                                                          

(23) The magnitude and direction of 2 forces acting on an object are 50 pounds, 
[image: image60.wmf]o
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        and 55 pounds, 
[image: image61.wmf]o
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, respectively.

(a) Find the resultant force in terms of  
[image: image62.wmf]r
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 and  
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. Round to the nearest hundredth.                                                                                                                                                                          
(b) Find the magnitude of the resultant force. Round to the nearest tenth and label
(c) Find the direction of the resultant force. Round to the nearest tenth
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